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Topic:- 43JAPANESE_A
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[Question ID = 1104][Question Description = Q01_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4413]
2. 2 [Option ID = 4414]
3. 3 [Option ID = 4415]
4. 4 [Option ID = 4416]
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[Question ID = 1105][Question Description = Q02_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4417]
2. 2 [Option ID = 4418]
3. 3 [Optien ID = 4419]
4. 4 [Option ID = 4420]
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[Question ID = 1106][Question Description = Q03_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4421]
2. 2 [Option ID = 4422]
3. 3 [Option ID = 4423]
4, 4 [Option ID = 4424]
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[Question ID = 1107][Question Description = Q04_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4425]
2. 2 [Option ID = 4426]
3. 3 [Option ID = 4427]
4, 4 [Option ID = 4428]
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[Question ID = 1108][Question Description = Q05_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4429]
2. 2 [Option ID = 4430]
3. 3 [Option ID = 4431]
4. 4 [Option ID = 4432]
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[Question ID = 1109][Question Description = Q06_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4433]
2. 2 [Option ID = 4434]
3. 3 [Option ID = 4435]
4. 4 [Option ID = 4436]
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[Question ID = 1110][Question Description = Q07_Japanese_SHAAN_NOV20_shift1]
. 1 [Option ID = 4437]
. 2 [Option ID = 4438]
. 3 [Option ID = 4439]
4 [Option ID = 4440]
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[Question ID = 1111][Question Description = Q08_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4441]
2. 2 [Option ID = 4442]
3. 3 [Option ID = 4443]
4. 4 [Option ID = 4444]
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[Question ID = 1112][Question Description = Q09_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4445]
2. 2 [Option ID = 4446]
3. 3 [Option ID = 4447]
4. 4 [Option ID = 4448]
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[Question ID = 1113][Question Description = Q10_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4449]
2. 2 [Option ID = 4450]
3. 3 [Option ID = 4451]
4, 4 [Option ID = 4452]
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[Question ID = 1114][Question Description = Q11_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4453]
2. 2 [Option ID = 4454]
3. 3 [Option ID = 4455]
4. 4 [Option ID = 4456]
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[Question ID = 1115][Question Description = Q12_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4457]
2. 2 [Option ID = 4458]
3. 3 [Option ID = 4459]
4. 4 [Option ID = 4460]
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[Question ID = 1116][Question Description = Q13_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4461]
2. 2 [Option ID = 4462)
3. 3 [Option ID = 4463]
4, 4 [Option ID = 4464]
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[Question ID = 1117][Question Description = Q14_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4465]
2. 2 [Option ID = 4466]
3. 3 [Option ID = 4467]
4. 4 [Option ID = 4468]
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[Question ID = 1118][Question Description = Q15_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4469]
2. 2 [Option ID = 4470]
3. 3 [Option ID = 4471]
4, 4 [Option ID = 4472]
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[Question ID = 1119][Question Description = Q16_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4473]
2. 2 [Option ID = 4474)]
3. 3 [Option ID = 4475]
4. 4 [Option ID = 4476]
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[Question ID = 1120][Question Description = Q17 _Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4477]
2. 2 [Option ID = 4478]
3. 3 [Option ID = 4479]
4, 4 [Option ID = 4480]
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[Question ID = 1121][Question Description = Q18_Japanese_SHAAN_NOV20_shift1]

1. 1 [Option ID = 4481]
2. 2 [Option ID = 4482]
3. 3 [Option ID = 4483]
4. 4 [Opticn ID = 4484]
19)
DEZAIIADLDERLDBEBYNRZEELZ 1 ~~4DENLEPR I,
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[Question ID = 1122][Question Description = Q19_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4485]
2. 2 [Option ID = 4486]
3. 3 [Option ID = 4487]
4. 4 [Option ID = 4488]
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[Question ID = 1123][Question Description = Q20_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4489]
2. 2 [Option ID = 4490]
3. 3 [Option ID = 4491]
4, 4 [Option ID = 4492]
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[Question ID = 1124][Question Description = Q21_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4493]
2. 2 [Option ID = 4494)]
3. 3 [Option ID = 4495]
4, 4 [Option ID = 4496]
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[Question ID = 1125][Question Description = Q22_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4497]
2. 2 [Option ID = 4498]
3. 3 [Option ID = 4499]
4. 4 [Option ID = 4500]
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[Question ID = 1126][Question Description = Q23_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4501]
2. 2 [Option ID = 4502]
3. 3 [Option ID = 4503]
4. 4 [Option ID = 4504]
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[Question ID = 1127][Question Description = Q24_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4505]
2. 2 [Option ID = 4506]
3. 3 [Option ID = 4507]
4. 4 [Option ID = 4508]
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[Question ID = 1128][Question Description = Q25_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4509]
2. 2 [Option ID = 4510]
3. 3 [Option ID = 4511]
4. 4 [Option ID = 4512]
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[Question ID = 1129][Question Description = Q26_Japanese_SHAAN_NOV2Z0_shift1]
1. 1 [Option ID = 4513]
2. 2 [Option ID = 4514]
3. 3 [Option ID = 4515]
4. 4 [Option ID = 4516]
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[Question ID = 1130][Question Description = Q27_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4517]
2. 2 [Optien ID = 4518]
3. 3 [Option ID = 4519
4. 4 [Option ID = 4520]
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[Question ID = 1131][Question Description = Q28_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4521]
2. 2 [Option ID = 4522]
3. 3 [Option ID = 4523]
4. 4 [Option ID = 4524]
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[Question ID = 1132][Question Description = Q29_Japanese_SHAAN_NOV2Z0_shift1]
1. 1 [Option ID = 4525]
2. 2 [Option ID = 4526]
3. 3 [Option ID = 4527]
4. 4 [Option ID = 4528]
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[Question ID = 1133][Question Description = Q30_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4529]
2. 2 [Option ID = 4530]
3. 3 [Option ID = 4531]
4, 4 [Option ID = 4532]
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[Question ID = 1134][Question Description = Q31_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4533]
2. 2 [Option ID = 4534]
3. 3 [Option ID = 4535]
4. 4 [Option ID = 4536]
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[Question ID = 1135][Question Description = Q32_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4537]
2. 2 [Option ID = 4538]
3. 3 [Option ID = 4539
4. 4 [Option ID = 4540]
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stion ID = 1136][Question Description = Q33_Japanese_SHAAN_NOV20_shift1]

1. 1 [Option ID = 4541]
2. 2 [Option ID = 4542]
3. 3 [Option ID = 4543]
4. 4 [Option ID = 4544]
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[Question ID = 1137][Question Description = Q34_Japanese_SHAAN_NOV20_shift1]

1. 1]
2.2
3. 3]

Option ID = 4545]
Option ID = 4546]
Option ID = 4547]

4. 4 [Option ID = 4548]
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[Question ID = 1138][Question Description = Q35_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4549]
2. 2 [Option ID = 4550]
3. 3 [Option ID = 4551]
4. 4 [Option ID = 4552]
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[Question ID = 1139][Question Description = Q36_Japanese_SHAAN_NOV20_shift1]

1. 1 [Option ID = 4553]
2. 2 [Option ID = 4554]
3. 3 [Option ID = 4555]
4. 4 [Option ID = 4556]
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[Question ID = 1140][Question Description = Q37_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4557]
2. 2 [Option ID = 4558]
3. 3 [Option ID = 4559]
4. 4 [Option ID = 4560]
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[Question ID = 1141][Question Description = Q38_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4561]
2. 2 [Option ID = 4562]
3. 3 [Option ID = 4563]
4. 4 [Option ID = 4564]
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[Question ID = 1142][Question Description = Q39_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4565]
2. 2 [Optien ID = 4566]
3. 3 [Option ID = 4567]
4. 4 [Option ID = 4568]
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[Question ID = 1143][Question Description = Q40_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4569]
2. 2 [Option ID = 4570]
3. 3 [Option ID = 4571]
4. 4 [Option ID = 4572]
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[Question ID = 1144][Question Description = Q41_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4573]
2. 2 [Optien ID = 4574]
3. 3 [Optien ID = 4575]
4. 4 [Option ID = 4576]
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[Question ID = 1145][Question Description = Q42_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4577]
2. 2 [Optien ID = 4578]
3. 3 [Optien ID = 4579]
4. 4 [Option ID = 4580]
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[Question ID = 1146][Question Description = Q43_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4581]
2. 2 [Option ID = 4582]

| 3. 3[Option ID = 4583]
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(1) BoHhE (2) ¥iER
(3) KIE (4) AR

[Question ID = 1147][Question Description = Q44_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4585]
2. 2 [Option ID = 4586]
3. 3 [Option ID = 4587]
4, 4 [Option ID = 4588]

- DEZARALEDBEUEREEL 1 ~~4 0P NLJEUPR IV,
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(1) BT (2) fHnET
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[Question ID = 1148][Question Description = Q45_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4589]
2. 2 [Option ID = 4550]
3. 3 [Option ID = 4591]
4. 4 [Option ID = 4552]
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[Question ID = 1149][Question Description = Q46_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4593]
2. 2 [Option ID = 4594]
3. 3 [Option ID = 4595]
4. 4 [Option ID = 4596)

47)
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BA=&Li. RS - B&E- & ThD,
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[Question ID = 1150][Question Description = Q47_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4597]
2. 2 [Optien ID = 4598]
3. 3 [Optien ID = 4599]
4. 4 [Option ID = 4600]
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[Question ID = 1151][Question Description = Q48_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4601]
2. 2 [Optien ID = 4602]
3. 3 [Option ID = 4603]
4. 4 [Option ID = 4604]
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ARCTHKEZREIELZOE_ ThHA,
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[Question ID = 1152][Question Description = Q49_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4605]
2. 2 [Option ID = 4606]
3. 3 [Optien ID = 4607]
4. 4 [Option ID = 4608]
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[Question ID = 1153][Question Description = Q50_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4609]
2. 2 [Option ID = 4610]
3. 3 [Option ID = 4611]
4, 4 [Option ID = 4612]
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[Question ID = 1154][Question Description = Q51_Japanese_SHAAN_NOV2Z0_shift1]
1. 1 [Option ID = 4613]
2. 2 [Option ID = 4614]
3. 3 [Option ID = 4615]
4. 4 [Option ID = 4616]
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[Question ID = 1155][Question Description = Q52_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4617]
2. 2 [Option ID = 4618]
3. 3 [Option ID = 4619]
4. 4 [Option ID = 4620]
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TOENEIAIEY O TEHBICERICRVEINSZ &

BEPeE ST,

(1) E#{L (2) WL

(3) 5k 4 E&1L

[Question ID = 1156][Question Description = Q53_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4621]
2. 2 [Option ID = 4622]
3. 3 [Option ID = 4623]
4, 4 [Option ID = 4624]

54)

THROSEDODEFOEXHFLELTELBELA LD 1 ~~4DHF 6B
X\,
BREMBEO— L > TWATHKIE- St Ex 800

DEAIZH 5,
(1) SEk (2) ¥
(3) fkE 4) X

[Question ID = 1157][Question Description = Q54_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4625]
2. 2 [Option ID = 4626]
3. 3 [Optien ID = 4627]
4. 4 [Option ID = 4628]

33)

DEZAIIAIELBEYREEL 1 ~~4 DTN LBR I,

HENDEEO<F—TCLTIEWIRWwWZ &%
ThHD,

(1) BhrbLYVETHIE

2) FEIUTTIHIEFRFERE2zRNDH L

) BEmEE-TAERDZZ L

4) ENLEFE~HEEZETZL

[Question ID = 1158][Question Description = Q55_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4629]
2. 2 [Option ID = 4630]
3. 3 [Option ID = 4631]
4, 4 [Option ID = 4632]

56)

DEZAIIAIBRLEYREEL 1 ~~4O0OFIEBUR X,

CRESCHMB L ETHAWRETAREDZ L, FREIEOLOSBADI LR
AR R
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(1) —&H (2) —HH
(3) =%H 4) M H

[Question ID = 1159][Question Description = Q56_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4633]
2. 2 [Option ID = 4634)]
3. 3 [Option ID = 4635]
4. 4 [Option ID = 4636]

* DEZARADBLELRERESE 1 ~~4OFNLBOREL,
SABENIAVWTHERBAER T TESE_ Tha,
(1) ¥%as (2) &F
() mE @) F&

[Question ID = 1160][Question Description = Q57_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4637]
2. 2 [Option ID = 4638]
3. 3 [Optien ID = 4639]
4. 4 [Option ID = 4640]

°8) DEZARALRLBELERETEL 1 ~~4DPNLB|ORE W,
12 ADRIERAIE_ Thab,
(1) HhzE (2) KER
(3) A (4) BEA

[Question ID = 1161][Question Description = Q58_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4641]
2. 2 [Option ID = 4642]
3. 3 [Option ID = 4643]
4. 4 [Option ID = 4644]

* DEZBIALRLELREER 1 ~~40THLBORE L,
AT LIE—MIs TR LTHA,
(1) #HE~ToTRERWET AL
Q) FFARVA T U AATo TRBERIKIZ &
(3) TCHTOMERIZELE > T, BVWADREZHZE
4) HRETORBFIIT->T, [HAE] 2HT L

[Question ID = 1162][Question Description = Q59_Japanese_SHAAN_NOV2Z0_shift1]
1. 1 [Option ID = 4645]
2. 2 [Option ID = 4646]
3. 3 [Option ID = 4647]
4. 4 [Option ID = 4648)

50) DEZAICABRELEYREES | ~~40HMLBOVEE 1,
BIEAOBHET, HicBeid AN TE-BHS

ElD,

(1) BHH (2) BHE
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(3) $:FHEf 4) HITEDL

[Question ID = 1163][Question Description = Q60_Japanese_SHAAN_NOV20_shift1]
. 1 [Option ID = 4649]
2 [Option ID = 4650]
. 3 [Optien ID = 4651]
. 4 [Option ID = 4652]

oW o

61)

DEZAIAIRLEYREELZ 1 ~~4DPMNBB R I U,

+ X TCRXIDOEIZKD DL THS,
1) X3 2) 2F
(3) \woLL 4 2L

[Question ID = 1164][Question Description = Q61_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4653]
2. 2 [Option ID = 4654]
3. 3 [Option ID = 4655]
4. 4 [Option ID = 4656]

62) ABBLBEUARSESL | ~~4ADENELBEUR X,
EIRBEN (FRIZAO LIS AZRESLT] LA

THd,
1) THEEOEE I 2) MERER]
(3) [FEMo++8] 4 [EHBE]

[Question ID = 1165][Question Description = Q62_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4657]
2. 2 [Option ID = 4658]
3. 3 [Option ID = 4659]
4. 4 [Option ID = 4660]

63)

DEZHICADROEERTHEEL 1L ~~4OFPLBOLRIV,
BIRREREOHRLIT_ ThD,
(1) R (2) BB
(3) FAEAL 4) #E

[Question ID = 1166][Question Description = Q63_Japanese_SHAAN_NOV20_shift1]
. 1 [Option ID = 4661]
2 [Option ID = 4662]
. 3 [Option ID = 4663]
4 [Option 1D = 4664]

P it R

64)

DEZHEADIRBEELBLEEZ 1 ~~4OFNLBEPRRIV,
FEHSII R E Lo T, BIE - ¥iE - BIOERED
LM CHERINDEEIE_ ThD,
(1) ZRe&be 2)

(3 EiERE (4 B R
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[Question ID = 1167][Question Description = Q64_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4665]
2. 2 [Option ID = 4666]
3. 3 [Option ID = 4667]
4. 4 [Option ID = 4668]

65)

DEIAAIRDBEYUREEZ 1 ~~4DFNEEBRRIV,

EFEBEE LTCFBICEON TARZBEREEZEATT DX THd,
(1) &EPERKS (2) ISR RR &
3) X (4) KEERT

[Question ID = 1168][Question Description = Q65_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4669]
2. 2 [Optien ID = 4670]
3. 3 [Option ID = 4671]
4. 4 [Option ID = 4672]

66)

DEZALIALGERBVEEREEL 1 ~~4O0FNLEBEBVR IV,
BALE, BREAEIIUD, BSECDE> THIEOEELICE >0
ToH D,
(1) B=&KE (2) B EE
(3) HEKXE 4) ERXE

[Question ID = 1169][Question Description = Q66_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4673]
2. 2 [Option ID = 4674)]
3. 3 [Option ID = 4675]
4, 4 [Option ID = 4676]

67)

DEZAIIAIRLBEYUREEL L ~~4DOFNLE PRIV,
NFEIIN T, TAUDENBERERB L CFOEEIZEE

BIaX5zo7,

(1) BRZEZERERLN (2) TRIZM
() BYFLEE (4) BB

[Question ID = 1170][Question Description = Q67_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4677]
2. 2 [Option ID = 4678]
3. 3 [Optien ID = 4679]
4. 4 [Option ID = 4680]

68) DEZBIADROEERETEL 1 ~~4D0FNLEVREL,

(B - (A3 - Pl & BB CRERICD D 23 < BB
EHHILERIE__ ThH B,
(1) M= @) HE
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(3) KFF 4) D%
[Question ID = 1171][Question Description = Q68_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4681]
2. 2 [Option ID = 4682

]
3. 3 [Option ID = 4683]
4. 4 [Option ID = 4684]

69)
DEZAIIADIELEEREAZZ 1 ~~4ADFPLBEBTRIN,

(T . B A F
1 '8, F @y Fi B
(3) =T @ B, F

[Question ID = 1172][Question Description = Q69_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4685]
2. 2 [Option ID = 4686]
3. 3 [Option ID = 4687]
4. 4 [Option ID = 4688)

o DYz BIEABROELERELE 1 ~~4 DhH BB E L,
HA o< E3E0OEERE ThHd,
(1) HEO—3E L HEBH (2) H HIKA &K HHE
(3) FHEEREHLE (4) BRERLAFEARK

[Question ID = 1173][Question Description = Q70_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4689]
2. 2 [Optien ID = 4690]
3. 3 [Option ID = 4691]
4. 4 [Option ID = 4692]

" DEZACADBRLBEEREZZ 1 ~~4DFRPLBOUR IV,
PR IRDOIERI THd,
A, IR
B. Lif
C. B
D. @5F
() A:D 2) AkC
3) ALB 4 B&D

[Question ID = 1174][Question Description = Q71_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4693]
2. 2 [Option ID = 4694]
3. 3 [Option ID = 4695]
4. 4 [Option ID = 4696]

72)
DEZAIIADIELEYRELZ 1 ~~4D0FNLBEO/E S0,

%)
BEAORKBIEA LBEENRDHAEMRICE > TNHBOPT
BA L ROMFERTH D,
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(1) KEX L EMER
(3) =B LERF

(2) FI5RFEIL & BIEER
(4) KERXELHHMEK

[Question ID = 1175][Question Description = Q72_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4697]
2. 2 [Option ID = 4698]
3. 3 [Option ID = 4699]
4. 4 [Option ID = 4700]

73)

BRI & 13

(1) FEEEIAE
(3) B & (AH

T b,

DEZACAPIBELEYLREZEZ 1 ~~4D0FENEE DI,

(2) HEXVU R N
@) (AL ART LE

[Question ID = 1176][Question Description = Q73_Japanese_SHAAN_NOV2Z0_shift1]
1. 1 [Option ID = 4701]
2. 2 [Option ID = 4702]
3. 3 [Option ID = 4703]
4, 4 [Option ID = 4704]

74)

DEZAIAITROBUREZE 1 ~~ 4 OHENLZJBRAEVY,

HEIZB L TWAHEED

A.
B.
G
D.
(1)
(2)
(3)
(4)

(E -
far AT
LEESRAT
S FH R Al
B&C
Al
ALD

BtD

T b,

[Question ID = 1177][Question Description = Q74_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4705]
2. 2 [Option ID = 4706]
3. 3 [Option ID = 4707]
4. 4 [Option ID = 4708]

75)

KOMBHEELWIBIZIE~, ELWEZ %

1 ~~4DFENBRBVZR I,
A, B
B. ¥R
c. —iE

K
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(1) B—»C—A—D
(2) C—A—B—D
(3) D—B—-C—A

(4) A—B—C—D

[Question ID = 1178][Question Description = Q75_Japanese_SHAAN_NOV20_shift1]

1. 1 [Option ID = 4709]

2. 2 [Option ID = 4710]

3. 3 [Option ID = 4711]

4. 4 [Option ID = 4712]

76) o o g e > T 5
TROE_SHEESmE. TOMEINIEICE~, ELWVWEZZ1~40
HFNGROZ2 &,

A. ALB
B. SUEWIERE

C. ST FA4T - FTa—F
(1) B—C—A
(2) B—A—C
(3) C—A—B
(4) A—B—C

[Question ID = 1179][Question Description = Q76_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4713]
2. 2 [Option ID = 4714]
3. 3 [Optien ID = 4715]
4. 4 [Option ID = 4716]

) FERoTo DETZAIZA. B. C. D. OSEEHN

ABb, FOEEDODELWEZ 1 ~4D0Fh6BO X0,

EERELEONDZE . WETIIRRDEED
5,

A. Z2oh

B. 7=»

¢ TH

D. WD

(1) A—B—C—D
(2) C—A—B—D
3) B—D—C—A

(4) C —D— B-A
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| [Question ID = 1180][Question Description = Q77_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4717]
2. 2 [Option ID = 4718]
3. 3 [Option ID = 4719]
4, 4 [Option ID = 4720]

TRED XD DEZAIZA. B. C. D. ODEEMN
AB, TOEEDIELWEZ 1 ~4 D LBRRE U,

oDt BoTHESELEDIZ, | EZ2HL Lot

A.
B.
C.
i3]
(1)
2)
&)
4)

Bohd
EZ A
AT
BHESND
B—A—C—D
D—B—A—C
C—B—D— A

C —2D— B—-A

[Question ID = 1181][Question Description = Q78_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4721]
2. 2 [Option ID = 4722]
3. 3 [Option ID = 4723]
4. 4 [Option ID = 4724]

) e OVESNENPNESHOELWES 1 ~4 0Hn0 RO &0,

A.
B.
.
D.
(1)
(2)
(3)
(4)

ATTEEE
TR ECEE
75 AYEE
YF R
B—A—C—D
D—B—A—C
A—B—D—C

C —=D—RB=A

[Question ID = 1182][Question Description = Q79_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4725]
2. 2 [Optien ID = 4726]
3. 3 [Option ID = 4727]
4. 4 [Option ID = 4728]

0 BAROTIE EH SIS OOE LVIEE 1 ~ 4 OHn 5B X1

A.

ZEHT3Ak
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B. {bE3Cik
C. #Hkiszik
D. JofxXik

(1) B.—A.—C.—D.
(2) D.—B.—C.—A.
(3) A.—B.—C.—D.
(49) A—C.—D.—B.

[Question ID = 1183][Question Description = Q80_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4729]
2. 2 [Option ID = 4730]
3. 3 [Option ID = 4731]
4. 4 [Option ID = 4732]

) FRIEBLNAAZOZRTFERBE SZELWVIER, 1 ~400NLBUAX

VY,

A R
B. =%
C. {EER
D. #1IF

(1) A—D—B.—C.
(2) B.—D.—C.—A.
(3) A.—C.—B.—D,

(4) D.—A—B—C.

[Question ID = 1184][Question Description = Q81_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4733]
2. 2 [Option ID = 4734]
3. 3 [Option ID = 4735]
4. 4 [Option ID = 4736]

D FRHROTFRROZERFRELFERICES, ELWVEZE 1 ~40005
B SV,
A, FRFEIL
B. BXR
C. FHEM
D. EHRIT

(1) A.—C.—B.—D.
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(2) B.—D.—C. —A.
(3) A.—D.—B.—C.

(4) D.—A. —>B.—C.

[Question ID = 1185][Question Description = Q82_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4737]
2. 2 [Optien ID = 4738]
3. 3 [Option ID = 4739]
4. 4 [Option ID = 4740]

83)

FEOMBICA S bO% TP RO, ELVELE 1~ 4080 HBU:

=Y AN

I
A, ANFOTEX
B. T RESAIRER
C. HEPFE
D. KER@)

(1) AIl BI CII DIV

(2) Al BI CIV DIO

(3) AIV BI ClII

D III

(4) AIV BII CII DI

II
L 1895
. 1910
Im. 1918
IV. 1868

[Question ID = 1186][Question Description = Q83_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4741]
2. 2 [Option ID = 4742]
3. 3 [Option ID = 4743]
4. 4 [Option ID = 4744]

84)

W,

I
A BEE
B. £§&

C. &

D. &

(1) AI BIII CII
(2) Al BI CIV
(3) Al BIV CI

(4) AIV BIII CII

DIV
D.II

D III
D.I

I,

ITL.

IV.

II
FBL TR RED) DReR

XV E MBS DIDOSEED
FURINRER~U Vi
FREKED O IFHFORFICKE
OREEL LTEIPNLETZ &
AN ni- ¥ -7 85,
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[Question ID = 1187][Question Description = Q84_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4745]
2. 2 [Option ID = 4746]
3. 3 [Option ID = 4747]
4. 4 [Option ID = 4748]

85)
TREROIHICE> > DOZ INMINHE R, ELWEXZ 1~4DHNERNAR
éb\ﬂ
I I

A, BRHEE . O PFs{hicBd LT, ES5h
TLEJ Z &

B. EHREr I 2TOLDIELEIZELL TN &
V9 Ek

C. miftERHE M. &y CEENREFNICEDRWT &

D. E1TER IV. §FTIEW=Z &nhnwksi
FEBIZB LW &

(1) AIll BI CIV DI

(2) AIll BII CI1I DIV

(3) AIl BIV CI D.UIII

(4) AIV BII CIHO DI
[Question ID = 1188][Question Description = Q85_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4749]
2. 2 [Optien ID = 4750]

3. 3 [Option ID = 4751]
4. 4 [Option ID = 4752]

) FROMECHD [T OREEICE HFICE DM LB, ELVELY

1 ~~4ADFRPLBEORIN,
I 1|
A, FERERT I. ZOFHHIFHT, AR
LW IRy
B. FA-#EERT II. ZOPUIARTTETNS
FREVEREZRT . ZOEER 2BEETTE3
D. #EzRT IV. 7~ TEELEH%

NATITEEL X 9D
(1) AT BIV CI DII
(2) AT BII C.I0I DIV

(3) AIl BII CI DIV
(4) AIIl B.I CIV DII

[Question ID = 1189][Question Description = Q86_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4753]
2. 2 [Option ID = 4754)]
3. 3 [Option ID = 4755]
4, 4 [Option ID = 4756]
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. 87)
TROIMIHIEFORERZ OMNLRE, ELWEZXZ 1 ~~4D%FHn
HEU2 &V,

I 11

A 4 I EBERR&ERE - KRG EOFRA
Y DAHILE TR

B. {fI< II. DDOLATELDITAZ L

C. 2B . YRGB ERREIZ N5
&

D. 8 IV. 2L s - TRFIVT
HHXE

(1) Al BII CI D.IV
(2) Al BII CIV DI
3) AIV BI CII DII
4 AI BIVCII D.II

[Question ID = 1190][Question Description = Q87 _Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4757]
2. 2 [Option ID = 4758]
3. 3 [Option ID = 4759]
4, 4 [Option ID = 4760]

88)

THROIMICSEOERNRH S, IHMIZEELRDH D, IFCE> Loz O/
LB, ELWEZZ 1 ~~4DORNEBRAL IV,

I i}
A PoOoE{FELEND I Bl
B. BLW@EYIZWATLEY R L I B
C. BOWBREV, &R I A
D. ADH#HES> 725 L IV. &

(1) AI BIV C.II DI
(2) AII B.II C.I DIV
(3) AIIl BII C.IV DI
(4) A.II BIV CIII DI

[Question ID = 1191][Question Description = Q88_Japanese_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4761]
2. 2 [Optien ID = 4762]
3. 3 [Option ID = 4763]
4. 4 [Option ID = 4764]

) TFTEOIMICHIEECEILOF IMNLEY, ELVWEZE 1~~40

FNLBOR I,

I i}
A: SSFAN L BHEICHEZES NS
B o357 IL #%E OBTORMAROH
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G Hobz . SFLTHARDERBR—>
W7 AR
D. AHBARH IV ¥R OFREIF OB ELE

(1) AIIl BI CIV DII

(2) AII BIV CI DI
(3) AI BII CII DIV
(4) AIV Bl C.II D.IN

[Question ID = 1192][Question Description = Q89_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4765]
2. 2 [Option ID = 4766]
3. 3 [Option ID = 4767]
4. 4 [Option ID = 4768]

90)
DEZAIIADELBEYUREZE 1 ~~4DFNLBO2 E L,
E%#’ﬂ {:j: L%&':- &J 5::
(1) =& (2) HHE
3) B 4) B

[Question ID = 1193][Question Description = Q90_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4769]
2. 2 [Optien ID = 4770]
3. 3 [Optien ID = 4771]
4. 4 [Option ID = 4772]

Topic:- 45JAPANESE_B

1)
Comprehension

BE2 Ll moT, HEITTH2L L0 THD, MEILEIETS
al REEEHTHD, FE=E1TER,. KETIZEACAEZE®HZ LT\,
i E L T\ CEHREZEDL2ZVDITTRRY, FHZFLME 7T i,
(k7o CE2U, FEHRIZ2NE., A VEWVSIIEEENROIDIITT THD,
ENbLIEILAREEBOEE T, TANBREFBETHIEF—OFHTH D,
BT AR (HEE) For-nThb, BEO AN E BT h
o7z & T, ZHIERAIBE 220,

M+ BELF (FICLECL R BEE]

HWEFBHIET S OEIATI D,

(1) |FTs5Z & (2) I ETHE
(3) BEEFEH>ZE 4) EETHDHZ &

[Question ID = 1194][Question Description = Q91_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4773]
2. 2 [Option ID = 4774]
3. 3 [Option ID = 4775]
4. 4 [Option ID = 4776]

2)

Comprehension

1B 2.1 2/ f= 7 % L=+ 2Z - L La S ek 2 ARl L EE - A
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HIF 1Y B W T N e T T LA A S T S B e e haa W F e TE=IFTTH] % TS A5 5 AT H ] e T 5%, O F ="

iz Wﬁ%@f&é I =14/, k%f&&&&ﬁ@%@%bfwto
FhE L T CHEZEDLRZVDITTRRY, FHZF LM 72T i,
72> TaEYD RV, BRI NE, A P03 EENDBONBIETTTHH,
ENLRITAEBEEHOEE T, TAREBREFBETHIF—OFHETH S,
BT AL (H58E) o0 ThH5d, BEO AN FH B STV
> & Thid. Z R RITIB E 220,

M+ RBEBLF [BIZOLFEICHL 2 55E]

Z 5 BT L DT T
(1) F—OFHE 2y AEDA
(3) WA 4) FEE

[Question ID = 1195][Question Description = Q92_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4777]
2. 2 [Option ID = 4778]
3. 3 [Option ID = 4779
4. 4 [Option ID = 4780]

3)

Comprehension

BERE Lo T, HEiIFTDHELWAITMHTHD, A LITETS
el REFBH THD, FIET=EHER., KRETIZEACAEFEHZ L Wi,
F@ a2 L T s CHEEDLZWDIT TRy, £HF LA EN 2T IE,
(K72 - CE Ry, BRI, AP0 EFZEENRONBZITTTH S,
ENBRITAEFEEHOEE T, TAREREFBETHIF—OFHTH S,
ETAICEINL (H@E) om0 Thsd, BEDOAN FHBoTWigh
> T & Thid, ZHIRRAISEBE RV,

M+ RBEELZF [FICHEICH R HEE]

FAUIRERICGAE 221X, EH50nH 2 & T,

() fRElL, MRV L RFRFHTHL LI L

(2) WEFEHL, BrEblHEETHDIENWHZ L

(3) MRENELWOMZEN, AEFBHTII2VnEZEZ bR TWD I E
4) EFRERFEEZEBETHDLLENHT L

[Question ID = 1196][Question Description = Q93_Japanese_SHAAN_NOV20_shift1]
1, 1 [Option ID = 4781]
2. 2 [Option ID = 4782]
3. 3 [Option ID = 4783]
4. 4 [Option ID = 4784]

Topic.- 43JAPANESE_C

1)
[RLTHLRLTHLHEZRAWS O —IZ1 21X TH) . HEZ3TE£H5

D% THZRT] LEWETHR, BT OFWDS (8535 720 TiER
WE ZAILBEMITCEZRFRETT,

T, BIWTHEIWTHEEL WD Wb Dle—iZ] , ZOEE—
TIEHYFA. B 12 TET U ERICELBELRSANLTT,
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Mizs51<1 GrkEs) . RAFE25<1 (8€3) . HEZFI<] ]
(BEH<) L ERBLEHRTLY I,

ZSDERZF TV ALBEZED L L, IIBOETEZABLIZY, &L
DT LHALRET Y Lo/ T58, MREEEBRZEZITLE I DD
LhEHA, Th, ZhZEFIRTNE, WAWARREREMELNE
ER

FhAIa g L TWET A,

(1)
2)
)
(4)

Z OBREFOEE
SHEDEM

LT LAL
MRFICEMEER DL

[Question ID = 1197][Question Description = Q94_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4785]
2. 2 [Option ID = 4786]
3. 3 [Option ID = 4787]
4. 4 [Option ID = 4788]

2)

RLTHRLTHEZ WO —IiZ] . 212 TH) . A2 TFEH5

O%F THZ2RT] LEWETHR, BT OFBWED [§5HT 5] 72T TIER
WE ZAILBEZMITCEZRFRETT,

T, BIWTHEWTHRERL VLD RN b De—IZ] . TOEE—D
THEHDERA, [5<] X TRT] BEZESBERBHL9HTT,
Wz51<) EXEs) . EFEz5<1 (&€3) . HEZE5(<] ]
BEHS) 2L PROLEHFTLY S,

ZSDERZF TV ALHBEZED L XL, IBROETEZABLIZY, &L
DT LALRET Y L2270 T8, MPEEEAZEZITCLE I DD
LNEHA, Th. EhEFFIFATIE, WANWARRREREMELINE
T

FEODEZILE S TWAREREIXENTT M,
() BFD1E 5B, PANTWHWAELELDITR—IZ] . BRIZ TWBT),

2)

(3)
“4)

[EENHFELO, BEDI->TLEIR-T, o—i2) . ZZ2IX
&5 .

[EoTHhEoThENNEDOAR—IZ] , 21X TH9) .

(BT 4 AR, RIC2AKR, BBIC=KARIZRZDIER—I2) . &%
' G Y N

[Question ID = 1198][Question Description = Q95_Japanese_SHAAN_NOV20_shift1]

oWk b2 o

. 1 [Option ID = 4789]
. 2 [Dption ID = 4790]
. 3 [Option ID = 4791]

4 [Option 1D = 4792]
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1)

LEEFEHSDAMBPEVWHERS 2oT, L BuTEED
PHAFEZERONIZHGEE 2T, HEXET T4 v 7

_DUE—REB ST, OTEERBTI LIZRY, JFRIT THRILT
T, BEROLENL? ] EEMENIZL SR L XIT,

. HBOBFETLIDZRESRVN LAY, REBIIR-T TEIA
TBARZL ) —EWLIZTETE] LML &I, T TEOHAR
EAEZEETCLED, BEOVRHRONDLNRLRLSKoTLE D, b4

Az BV 72Dic, BAZ 01X 0 2L GEIRGFFIEZE Ak < TR b6,

WMARODZ LB LREFICFRBERBEINEY ., HHWEI——IF-0 Fii
BINEL e T——8BEDHI 5 TAFICEbREZVTAZ kit B,
BoDOENHBERLTARZAESISEIZIIE. O ) (AR Tk
ZHRw, FROLOEENTE WL, BERCEEEZEETAZ
LRTE B,
= ¥ EFEHE: [&)IIR]

DEZANAIRLBHRLEEZ 1 ~~4D0FLLBE RS

VY,
(1)
(3)

HAHVT (2) Z<iX
Fhlx (4) Tik

[Question ID = 1199][Question Description = Q96_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4793]
2. 2 [Option ID = 4794]
3. 3 [Option ID = 4795]
4. 4 [Option ID = 4796]

2)

LEELEXHSOAFDBREOVHERS 2oz, | BWLABSEED
PHAFEZERONIZHGEE T, EXET T4 v 7

DA BB T, OTHEZRBTZ LI, JFEIZ TR T
T, BEROAENLI? ) LEBENT-L 570 &I,

. HHEOBETCLIDEZRNERVLIEHY, RRICR->T TEIA
TBARZL ) —EWLIZTETE] LN L&, T TEOHEAR
BEAEIEETCLED, BEOR#ELRONDbMALRSR>2TLE), b4

Az BV 72Dic, BAZ 021X 2L CGEIRGRFFIE LY A< TR b,

MROZ LR oHFIFREBREAINEZY ., 50 E——1E-00 Fi
BINEL ZEC—EBEOMI ) CRBFIZBEDN=VT5Z ki3,
BEaOAEPLERL TARNMZARLIGEICIE. €OV T4ARTEN] 13
ZHRW, TR OLOEFNTE TWNIE, BELRCEEZEETSZ
LISTE B, e e
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AT LEFM 0 | aa/ll3Rd

DETAIADIBRLBEULTEL 1 ~~4DPHL LRI IV,

(
(

1) 2 (2) Iz
3) & @ b

[Question ID = 1200][Question Description = Q97 _Japanese_SHAAN_NOV20_shift1]

1.
il
3.
4,

3)

1 [Option ID = 4797]
2 [Option ID = 4798]
3 [Option ID = 4799]
4 [Option 1D = 4800]

EEFECEFHSOAMDBERNHERS 2o, O BULDEED
PoAMERRONILGEE 2T, e XIETT 407

_ UV RAEB ST, OTEERBTILIZARY, JFRICT THRILT
TH, BEROARMI? | LEMENTLL IR EXIZ,

B OBETLIEZRERVLIINEDY, BT LI A
TBARZL ) —EWLIZTETE] LML &I, T TEOHAR
BAEIEETLED., EGRHERONDNLRLS>TLES, Ehbs
A2 BVHTEDIL, A2 021XV EL CERRIFEL B2 < TR 5T,
BROZEBRVBLHEFIITBEBRAINRLY, H5WE——E-00 Fi
BBREL L T——BFEOHI ) CTARFIZEDN=D 75 LT 5,

BEFOLENLEBRL TAMZARLIBEICE. £o0) [AFTEN) I3
ZHRV, FNRY DLOEFRTE TWHRIE, RMERCREEZEETLZ
=PCE S FEERA T8I

DEZAIIAIELBELEUREEL L ~~40ENLBU2 I,

(1) HHWE
2y Whid
(3) FE7iZ
4) T

[Question ID = 1201][Question Description = Q98_Japanese_SHAAN_NOV2Z0_shift1]

1.
2
3
4,

4)

1 [Option ID = 4801]
2 [Option 1D = 4802]
3 [Option 1D = 4803]
4 [Option ID = 4804]

LEEFEXHSDODAMBPEVWHERS 2od, L BudiTEED
PHAEEZERONIZHGEE T, XX TT 497

DA BEB T, OTHEEZRBTZLIZRY, JFEIZ TR T
T, BEEROLINL? ) LERENIZL 57 L XL,

B OBETLIEZRERYVLIINEDY, BB -T LI A
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TRBHMZ D) —EOETETN] CEPNCEEIC, €I TEDTAR
BAEIEETLED. BEOVBREROIDNILRLS>TLE S, Ehb4

Az BV 72Dic, A2z 02X 0 2L GEREGRIFIE 2 Ak < TR 67,

MROZ LR OHEFICFREBREAINEZY ., HE50E——1E-o0 0 Fi

BINZEL ZEC—EBHEOMI ) CARBIBEPI =V T5Z ki 5,
EGOAEPLERL TARNZARLIGEICIE. £o0VWH T4ARTEN] 1T
ZhRW, TR DOLOEFNITE TWIIE, BELRSEEZEETSZ

NTE B,
LBTED A EA  DRJIE]

EBFHEORI O CABICEDNTZVTAZ L2720 90,

(1)
(2)
3)

(4)

MAZ5»RYVBLAES 2NN D
B DARTE ZBWHERWAS
EREAHEAKRDETCLE 22D

HH—EE o TWEEEThETSohb

[Question ID = 1202][Question Description = Q99 _Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4805]
2. 2 [Option ID = 4806]
3. 3 [Option ID = 4807]
4, 4 [Option ID = 4808]

3)

LEEFEFHSODAMBPEVWHERS 2oT, L By
PO ERERONIZHGEE T, EXETT 47

DR EB- T, fHOTEZRBTZEIZRD, [FRIZ TR T
T, BEROLINLI? ] CEMENTZL SR L XIT,

. fAFEOBFHETLIEZRERDLINDHY, BB R->T LT A
TBARZ Y ) —EWLETETH] LEbhic LSl £ TE2>HARL
BAEIEETCLED, BEONRELRONDNRLRZ2TLEY, b4

A2 BV T 7oic, BAZ 02 XV E L CEERFFEZ A< TR 6T,

MROZ LR OHFIFREBREAINEY . HE5W0E——1E-0 0 Fi

BINZEL ZEC—BEOMI ) CARBFIBEDNW=VTHZ ki3,
EGOAEPLERL TARNMZARLIGEICIE. £o0VW) T4ARTEN) 13
ZH720, FNRYOLOERFRTETOHRIE, BERERZEETSZ

WCE 5,
2 * H R [R)IE]

[ZHTEIL] XV ORI 5RO T3,

(1)

DOEFNTE THIE
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2) BHEZWOLESDE ZAILEBWTBITIE
(3) BEGHFIEZboA LR ZTRBITIX

4) BELTARIZE >HE

[Question ID = 1203][Question Description = Q100_Japanese SHAAN_NOV20_shift1]
1. 1 [Optien ID = 4809]
2. 2 [Optien ID = 4810]
3. 3 [Optien ID = 4811]
4. 4 [Option ID = 4812]
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Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 32
Sales (SA) 12% 5 %3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% A% a
Others (OT) 6% 3:68

Frefafan oftem W e Hift few o @ ge 99 | o fafaw &0 3 wwa F wesa =@ e
(%) o a1 Teu-afEen FEme oum qmta T 2w @l % P FwEed B G 80 9™ 2|
ifersT § 128 70 STS] & STER W %9 o Io% i)

I = shreiser sh1 @t e
IR 57 & I < Frdere
stca (%) fom | gev-afeen oo (3 A )
a1 (7@ 3) 15% $:2
TeE (TE T) 12% 5:3
Fmtor i R (di ) 9% 5:4
AT (dt 2TR) 18% 5:7
weaA (T ) 21% 3:4
Ieurea IR ufiae (di ) 19% 5:8
3179 (211 &) 6% 3:b

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft = 1 e 769 FwEEw B siteq e 991 27 (3IMEs $ T ST a9F)
(1) 6.39 @@ (2) 4.69 T®™
(3)  5.96 @ @) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
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. 1 [Optien ID = 8025]

2 [Option ID = 8026]
3 [Option ID = 8027]
. 4 [Option ID = 8028]

oW

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrmbution of Workforee of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% G
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan oftem W fiem i few oF 7@ ge 99 | G # fafas &0 3 wwa F wesa = wfaea
(%) o a1 Teu-afEen FEEe ogum qmta T B Gl @l % P FEed B G 80 9@ 2|
aiferst 1 foE T TSl % YR W WRT % S Ay

R = shreisier =1 Ese e
TR H7 & I o Frfere
st (%) fom | gev-afeen sguw@ (37 )
Ta (TF §) 15% 3:2
ey (TG 1) 12% 5:3
Fmtor 337 orgRar (d ) 9% 5:4
ArFTEE (F 2TR) 18% 5:7
TEeA (T U) 21% 3:4
Ieures IR ufiae (di ) 19% e
3179 (211 &) 6% 3:b

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%

(3) 320% (4) BO%

Ty § ot IR & # i wiEen wREe P g o w8y | $rEka yee weed i qed w5

Torer wfgwa 27
(1) 330% (2) 318%
(D 320% (4y 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3, 3 [Option ID = 8031]
4, 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained
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in tne tapie, answer tne gquestion |

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% i 1R
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bk
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafan oifeem W fem Hif few o @ ge 99 | o fafaw a0 3 wma F wesa = e
(%) o a1 geu-afEen FEme oum qmi T 2wl @l % P FEed B G 80 9@ 2|
feTT J 138 70 SISl & STTER W YT o Io i)

G % S 1 EaT
TR 57 & I o Frfere
st (%) fom | gev-—afeen oo (37 )
a1 (7@ 3) 15% §:2
Tew (TE T) 12% 5:3
Fmtor 23R orRar (i ) 9% 5:4
AT (F 2TR) 18% 5:7
&g (T U) 21% 3:4
Ieuren iR ufiag (4 ) 19% b8
31 (a1 &) 6% 3: b

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) B7%

(3) 89% (4) 85%

TH U 3R TN T &9 § G JE0 BEE H Fd TN 6 7 49 § e HEed o fe Geal F aTET
fepaem widwa 27

87%
85%

82%
89%

1)
3

)
@

[Question ID = 2009][Question Description = Q03_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8033]
2, 2 [Option ID = 8034]
3, 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Fev 2

prepp
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Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Profeasional (PR) 18% B f
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan oftem w fem Hifw few o @ ge 990 | o fafaw a0 3 wra F wesa = e
(%) T won yEo-afEen Frme oua qmi T 2wt aEl 5 P FEww # e 80 9@ 2
aifert § 35U 70 LIRS % STYT W YT 3 I9% AT

A = shrASe 1 &g e
TSR 7 & TG T FreaA
wfcr (%) o | gee-Afeen oge@ (30T )
a1 (7@ 3) 15% 8:2
eE (TE T) 12% 5:3
Fmtor 3 e (di ) 9% 5:4
AT (0 2TR) 18% 5:7
weuA (T U) 21% 3:4
IeureR IR ufiae (di ) 19% BB
a7 (a1t &) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

TH T 3 TH T A § FEAA Afgen FEE i Ta aean o 91 F 47 | Fea Aften seea i 4 w5

ot frar 27
(1) 5.1 @ (2) 7.5°m@
(3) 5.7 @@ (4) 13.29drg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

%) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (MA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% Jib
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Teteatigs drterert ot = IS e o f6d g2 a3 9T < taite st 4 Wnd o skeise o giosd
(%) T s geu-afgen weise U gwen T g wl & % e Prwd B e 80 9| 2
arfersT o f2u U 3RSl % FER 9 93T % I9L AR

9IE  FHEwe 1 e G
TR, oh1 &5 HIq = e
wtcrwra (%) fereron | gea-nifgem sgma (307 )
Ha (TH %) 15% 3:2
7w (@ T) 12% 5:8
fmtor 3fit ameawr (ot ) 9% 6:4
Trbere (i 31m) 18% 5:7
Wered (T U) 21% 3:4
IeaTEa 1R uftmsa (i ) 19% 5:3
37 (3 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16:35 (4)16: 39

o w7 & # wrERa wiEen FEEd S gE SR 9 3R vd o Y el A P uwu wEEe i fel Gedl 6

SIS o 27
(1) 17: 39 2y 16:357
(3 16:35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_51_SHAAN]
1 [Option ID = 8041]
. 2 [Dption ID = 8042]
. 3 [Option ID = 8043]
4 [Option 1D = 8044]

oWk B

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1} Memory level| (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL % Fpu T A g IR AR TR gorn 1 TTeA T IR 36 SAFred RGO W Bl 8 7

(1)  =gfa=w (2) Hasig WL
(3) HHEEX (4) wWrd T T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 3045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047)
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A} Self efficacy

(B) Planning

(€) Locus of control

(D) Communicating

(E) Flexibility
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. Choose the correct answer from the options given below :
(1) (A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)

frafataa 3= gfef s awaett 6t g2t & % stomm gedt fafim ol = meam @ fafRa e

T 2| S I S SR 1A s AHard 1 39 A SiA Hl G SHeER AR % It AT 37

(A)  FArcA-@aal (ame)

(B R

(C) T fi aityr

D)

(B) e

Fret feg e ferpeat d ¥ wEY S == il
1) QAR B)

@ (B 3N(C)

3 (D) 3R (E)

@ BIRD)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 8049]

2. 2

[Option ID = 8050]

3.3

[Option ID = 8051]

4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing

effectiveness of the method.
List 1 Listll
Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(€) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(Il}, (C)-(lI), (D)-(IV)
(2) (A)y-(I1}, (B)-(IV), (C)-(), (D)-(11)
(3) (A)y-(IV), (B)-(lI), (C)-(I), (D)-{I)
(4) (A)-(11), (B)-(D), (C)-(IV}), (D)-(II)

-1 % w1 gEI1 1 R i) g1 3 s sifem st § fraw ) R 4w E, s g

T1 & siferm faftmt & waesfiaa sen it o & 18 2

(A)
B
(©

ST

Feft-1

foreqor i fatern

ST -TEA 1 SAafsarens o
g sitt gadt s fafa
oo i e faf

Lo =i e Ll

Ft-11

Tt SEH $i awAi®
(D) %o o gFe & T
(IT) sifasRfa SHEUR TH
(I1I) TisgeR SETea Fmi

o T o WU . TR . S A ——
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I\J.J)' Lt R et e L e A B B i T B | '\L\'; B e B B B B N B B ] S B By Bl Bl i £ B |

= feu e fomreut § & w35 w1 9= Hifa

O AQ-O, B)-AD. (O)-AID, (D)-AV)
2 (@-dID. B)-aAV). (C)-1). (D)-aD)
(3 Q-av). &-dan. (©O)-dn, -0
@  Q-Ah. B-O. (O-AV), (D)-1ID

[Question ID = 2014][Question Description = Q08_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Optien ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement () : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (l) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

w97 (D) : STy afR wiftemmar ofteon =t gdenfii= % 7w of s gaar i udt dimr W@
ST e % geTd AR T S 2

e (I0) : Fegig =afem oz ik nad =afraa wien et & fafie smer 3 o =
uT % gEEE 8 IR ey W #)

SUUE FIA T A °, § o T fomed 4 O gew SugE ST W 9 i

1)  F D IR JAD T wE 2
@) =W @) R 1) 3 o E
(3)  my (D) EE 2, S T (1) e R

@) = (D) TeE 2, S F99 QD) 985 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

F= 2wy faw w € = s (Asseﬂiﬂnﬂ)%mﬁ%ﬁﬁﬁ%ﬁ}la@nmw (Reason R)
% W H ;

AT (A) : forsgor & anygfer @it omg i 4 enenfe wemae st & Ffgg wee sfem ot
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ol 2" SHMET 2

FHRT (R) : fordft worrelt foneror wemar wonedt =i wiftem ofiféafaat 4 gam % @y g3 o s
G HE

I FHYT * oAE °, T e e Fweut § 9§ g8t S W 99 i

(1) (A 3 (R) I TeT 2 3R (R), (A) 1wt =ame 2

) (&) R R) 3 FF &, 9 (R), (A) F A6 = 6/ 2
(3) (A T 2, A (R) w8 2

@) (A = 3, I R) 79 2

[Question ID = 2016][Question Description = Q10_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4, 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopa wepr % e § ufgarli-ufds =6 Deatsa fen S 27

(1)  Feda =iy () Uit ma
(3)  SATATH WY (4) TR WY

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uftsrer afem S afofe = a1 ofuaf® o s % wv 4 2l 2, g 6 F=fafeae 9 @ f faften

] T GUHR &7

(A) fEaones &

(B)y wEmeR=s fafy
(C) = fafy
D) sl f&f

(E)  ==maEmessh oty

F=1 fou o fawedt B o OF 3w w1 9= ST

Q) (A R ®B)
2)  (B)3R(C)
(3) (C)3R (D)
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[Question ID = 2018][Question Description = Q12_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il, List | gives steps of research while List || provides techniques used,
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (I} Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(111}, (B)-(IV), (C)-(I), (D}-(1)

(2) (A)}-(1), (B)-(1}, (C)-(1N), (D)-(1V)

(3) (A)-(I1), (B)-(IN), (C)-(1), (D)-(1V)

(4) (A)-(l11}, (B)-(1), (C)-(IN), (D}-(IV)

-1 % o g1 =1 faens fifse) g1 8 iy % o 9ea 2, St gefl-I1§ 356 gR1 I a1

Gin! geft-I1

T ok = YT | A8 AT TP
(A)  wwE iy (I) ARSI 1 RIS 3T ATH TEgdtnon
(B) uftrewn fmfo D) U e WS U THFA H A
(C) wic=em wiean =1 == (III) <= =6 &3 T 4 9¥ 33
(D) g fawaor AV) e =k <RI % s gay i e
= fau o famreat § ® wE TR H1 =99 HileT

1)  (A-dID. (B)-AV), (C)-aD). (D)-(D)
2y (A-D, B®-AD). (C)-AID, (D)-AV)
(3)  (A)-dD. B)-1I), (C)-D). (D)-AV)
(¢  (A-dID. B)-@). (O)-AD, (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8073]
2. 2 [Optien ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1) is true but Statement (Il) is false

(4) Statement (I} is false but Statement (I1} is true

=g wm g3

w99 (I) : Uh TU-TEY SR WE-TT § qEe S d@eH % ey ofi Welt % sftw iR st 7
B 2l

w97 (I0) : T wadt A o s sgwer wsht mdl & fore stfEm R

et S ——— e T e e e B A 4 —_ ol
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A RALL AT P AP T "I?. AR TS TN IMTTAU T TTORT KA WA RS TR YTV Y, .

(1) =y (D) &k (1) g g 3
2 =y (O 3R AD T WA 2

3 =y (D) "ea 2, A waE (1D s9ed 2

@) = (D) 9T 2, Wfes R (1D §9 2

[Question ID = 2020][Question Description = Q14_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078)
3, 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

f% 2 o g T E : T AR (Assertion A) % w9 # fuifigw & @ 2w ¥ ® (Reason R)
Fwqd

wAfeE (A) ; et wiy sfwern (Hy) =1 Busoia oimem (Hy) # m=sear @ e B s
=|rEa|

FT (R) : i ufewerr (Hy) = ashanta #1 sifigle @Y ee @ 78 H s g 2

SUIE HUA H ST 4, T o T fmmedt § 9 ae SugE S W 99 i

(1)  (A) IR (R) IF T& 2 3R (R). (A) F 7 = 2|

2) (A s R) A @ F, | (R), (A) B g e 7 R
@ (A2, afF ®) T8 7@ R

@ (A TE R, AR (R) w8 R

[Question ID = 2021][Question Description = Q15_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8081]
2. 2 [Optien ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

e Tw Aiee e =N adiE e feew fratafiaa o @ G faf = w20

(1) 30 sFad (2) 304
(3) 15 3TES (4) 15 TR

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085)
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopa THMERTT 1 Td- T (M) "Let truth prevail" 87
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[Question ID = 2023][Question Description = Q17_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8089]
2. 2 [Optien ID = 8090]
3. 3 [Optien ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion {A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= 7 #vF fim o ¥ ;v iR (Assertion A) % &7 # faflgw € at 3o 3u% HRW (Reason R)
+wYH

sftero (A):  sfers R (sesnee) s wites dafweier st weRtiE g 2, weg a8 wffeen
# a9z ¥ $9H T9E U2 @ 2|

T (R) : Fetie Tan (siewrz) Hifear w dwmf 2R Y o1t v 2

ST HYT h sTeries 1, A 2u U Repeul § o 9e% ST SO B TEA it

(1) (&) s R) 3 FE 2 o (R). (A) F =& =mem 2

) (&) R R) I T 3, AR (R), (A) B wd e T R
(3) (A Td R, afe (R) ud 78

@ (AT TE R, AR ®) 7 R

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
. 1 [Optien ID = 8093]
2 [Option ID = 8094]
3 [Option ID = 8095]
. 4 [Option ID = 8096]

oW

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System,

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FOER % SU & Bg MUFHA Wl AeRthies 8 TR W TF TR (G0 o misral amfea ge?

(A) v fagm fafta it e g w3 %
B) = Wi safimm S % @y ufnem 3 % fag
(© st = R el = ww seH w T

(D) =g 9N s9F % fore R difgm o yend uve difta giar 21

e fau o foereai § O weY I9gH 3T o 9T Fife
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(1)
2)
(3)

(4)

[Question ID = 2025][Question Description = Q19_GP_20N0OV_51_SHAAN]

1. 1 [Optic
2. 2 [Optio
3. 3 [Optio
4, 4 [Optio

13) From the list given below, identify the Psychological barriers to communication

(A) Noise

Fae (A) 3R (B)
=hae (B) 3T (C)
%ae (C) 3T (D)

Fae (A) 3R (D)

n ID = 8097]
n ID = 8098]
n ID = 8099]
n ID = 8100]

(B) Invisibility

(C) Preju

dice

(D) Disinterest
(E) Inattention
Choose the most appropriate answer from the options given below :
(1) {A), (B) and (C) only
(2) (B), {(C) and (D) only
(3) (C), (D) and (E) only
(4) (A), (C) and (D) only

o & 7 g 7 @ g 1 saEmie st w e i

(A)
(B)
©
D)

(E)

= far T B § 9 wel 3 = = Fifs

(L
2)
(3

(4

[Question ID = 2026][Question Description = Q20_GP_20N0OV_S51_SHAAN]

1. 1 [Optic
2. 2 [Optio
3. 3 [Optio
4, 4 [Optio

TR
SRl
qamE

FTEf

€I = T B

Fad (4), (B) 3R (O)
a9 (B). (C) 3R (D)
Fad (C). (D) 3R (E)
Fa (A), (C) 3R (D)

n ID = 8101]
n ID = 8102]
n 1D = 8103]
n 1D = 8104]

prepp
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16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs, 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/

T T4 % SR U TRAR % o19d Wi 599 99 3 WeAl 4000 T, 3G 3T 4 "eHl 0 4500 w9
R FAfaw s w2E A 5000 T 97) 41 3w ¥ + v o g 5000 wuH off A 3@ gfEw H

A1 3 feraHl 4 ?

(1)

3000/ - T

(2)

4000/ &9



www.prepp.in

(3  5000/- T (4) 6000/- T3

[Question ID = 2027][Question Description = Q21_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8105]
2. 2 [Optien ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg =i Tl s1erew " = siigd s -

(1) 76.5 (2) 98.25
(3) 55.75 (4) 5H6.75

[Question ID = 2028][Question Description = Q22_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4, 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :

(1) 25%  (2) 50%
(3)70%  (4) 80%

FE ARG 33 WX 39 99+ W 11 ofieX 3y % foea e % v W oifSia wRar 21 wfowa

L
1) 25% 2) 50%
(3  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8113]
2. 2 [Optien ID = 8114]
3. 3 [Optien ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  {(2) 5.26%
(3) 5% (4 7.2%

77 foref) =eg 1 @vTa gew ek fosha goa w1 95% 2t e = wferraar w4 27

(1)  4.26% 2 5.26%
3 5% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4, 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a

profit of 30%?
(1) Rs. 1,600/~ (2) Rs. 2,000/~
(3) Rs. 2,080/- (4) Rs, 1,560/-

Ifg wig =afn frdt axg = 25% wfawa f a1 @ S8 1200/ w9 o S=ar 2 qt 30% 1 A1 FAN *

fore =@ =w =g = e Fiwa w s= =i o e

1)  1600/- ¥ () 2000/- T
(3)  2080/- s (1) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8121]
2. 2 [Optien ID = 8122]

| 3. 3 [Option ID = 8123]

prepp
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| 4. 4 [Option ID = 8124]
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21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?
(1) Arthapatti  (2) Anumana
(3) Upamana (4) Unuplabdhi

e M quAard ®# g & fefafaa d @ wiE-m 99 s atg 6 Rl we awg % |1y meEa ®

AT 27
(1) vy (2) IgHaA
(3 STEE (4) sHulsY

[Question ID = 2032][Question Description = Q26_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I ToRITRe o TR ST & AN | =0T =1 ol 3H T & 7

(&)
(B)
©
D)

(E)

Teramast fawr o sargror Rt gEmar/ wEisEar w0 FuE (ST)
HR =1 B (37)

it =Y fagl % wu & gy (Fre)
AfSemen =1 HYF (fam)

fifea Fram =1 samao g (gmE0n)

Hi5 o o fomreat 4 @ ud s W 9= Fifvw

o)
)
(3
@

(D), (E), (&). (). (B)
(D), (C). (B). (&), (E)
(D). (B). (E). (A4), (C)
(D). (B). (A). (B). (C)

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(&)

(B)

[

Nayaya
Vaise sikas

ParAdAlhrata
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(D) Mimamsa
(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2)  (B). (C) and (E) only
(3) (B) and (E) only
@  @. D) and (E) only

U YRAHE ZEARE -9 LIS 763 YA Sl STIAN F AT T @ 7

& T

B i

© g

D) i

(E)  =Imih /et

el fau mu foepedi & ¥ wEl 3w = wmE Fif

(1) = (B) 3R (C)
2 FF (B). (C) IR (E)
(3) e (B) 3 (E)
4 FF(A), (D) I (B)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1) is false but Statement (ll) is true

f a1 B Ry F

% (D) T il ahered % ATER AR 3R difhe HH % wa o 7T 3

w9 (1) : s T 75 Tel sawdt 2 7% 26 5% IR o I9aA o1 =Ry "ok a5gd: I8
sl 2 2 29 F 1w e 2

IUNF FUT o STETH H, H 4T T fFwew § ¥ wEl SOt W 999 it

1) =R @) R A = T 3

2)  FF J) SR () I 3| &
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(3) =9 Q) g 2, dAFR wu (1) 15 2

(4) =9 (1) 39T 2, Aerd A (1) gea 2|

[Question ID = 2035][Question Description = Q29_GP_20N0OV_S1_SHAAN]
1. 1

[Option ID = 8137]
2. 2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List 1l

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reasoen  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

geit-1 % @ g=hi-11 =1 e hifsg|
-1 w11
o % =l LETIED
(&)  aARrarom =i wHiw % w9 7 gfE @ e gl B ? g A Edl @ WU WiER
T
(B)  =HroT AT e ) vl W T 2|
(C) Fafza Frm w1 sgmw & (1) safoe vard w e 2|
(D) wurfea = s sirgron =1 F2A IV) FAiH = g 2

=t fau 7 faemedl § 4 981 39U = hif

1)  @&-@, B)-dl), (C)-AV), (D)-(10)
2 @-dv). (B)-diD, (©)-@). (D)-dI)
3  @-dID, B)-AV). (O)-(D). (D)-AD)
@)  A-dDh, B)-O, (C-dID). M)-1V)

[Question ID = 2036][Question Description = Q30_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4, 4 [Option ID = 8144]

26) An T Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

wF 1S A F A T A N u A wise % ouerd 1 FEior fen 3 Sl o fige A mee e 2 e
WM el Siaei ATgal i oTen SR e SR T9E | WY 2

|7 U * for0 3 Wi = yam e o 27

1w (dw) = @ =g

(3) witie B2 2 g™ (4) T @ I

[Question ID = 2037][Question Description = Q31_GP_20N0OV_51_SHAAN]
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. 1 [Optien ID = 8145]

2 [Option ID = 8146]
3 [Option ID = 8147]
. 4 [Option ID = 8148]

oW

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly,

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

=2 31 = o o § ;v afhmas {Assertion A) F w9 § faftaa %?ﬁa}mm% IO (Reason R)

% & H ;

a1 (A) ; THF A TR P § O AR fomm snayss =9 8 weuifia 5 wifEu)
HT (R) ; A HI et @Y dR W g | garg 8 o @ehd |

ITUTH U ok A o, A U U e § O 99 39 = 999 hifaw

(1) (A 3R (R) IAT @ & 3 (R), (A) 1 9t =aren B

@) (AR ®)IA T, AR R). (A) T e @) 2
(3 (AT B, @ (R) 918 B

@ (A m B, A R) 7 2

[Question ID = 2038][Question Description = Q32_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D}, (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

TaU 91 U guh B Gual % FH 1§ Fofaiad W aquaistl % 95l %9 i ggaE i)

(A) 1500 M Bytes
(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
1= foe e farreat 4 @ w1} 3o w1 == Hifvw

1) (D) A)C). (B)
2 @), {D. ). B
3 @, 6B.0.0
@ D), ©).A). (B
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[Question ID = 2039][Question Description = Q33_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,

Statement () : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (l) and Statement (Il) are false

(3) Statement (I} is true but Statement (ll} is false

(4) Statement (1} is false but Statement (ll} is true

e % "oy § forad gy ot ard-wid 2omietst g §, e g weA fag e g

w2 (D) : %18 H I gy W A Bl B
o (I) ; S-S % Wieue U wepy i o #E wften diF o ¥ a1 S 1 uewar 2|

I FHYT * o H, T e o el § 9 udl SR = 999 il

(1) = (1) 3 AD 3 Tea B

(2) = (1) ST (A0 297 315 B

(3 = (D U 3, 9fF w9 (D) 9 2)

(4) = () o7cd 2, 9fF w9 (1D 99 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8157]
. 2 [Option ID = 8158]
. 3 [Option ID = 8159]
4 [Option 1D = 8160]

oL B2

30) Match List | with List Il :

g=it-1 = =g gofl-11 = e hifsm)
i g=R-11
(SFroge aritaiies e ) (Pt
(A) OCR @ fra m weafafa gwmEs F T T 5
foaw g g 2)
(B) OMR A wz-frepedim weet ®§ o7 ¥gF F6 ® fom
T i 2
(C) Email (I11) STEE=ITS FegHeH
(D) Instant Messaging AV) GHFITH Eﬁﬁjﬁm

9 feu o forredt 4 @ 9t =ot w1 === Fifw

1)  @-dD. B)-O. (©)-0V), O)-1II)
2)  @-dD, (B)-O. (O)-(ID. (D)-(1V)
&)  A-D. B)-aD, (C)-A1I), (D)-(IV)
4)  A-D). B)-ID, (C)-IV), (D)-(1I)

Match List I with List 11 :
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last 1 lLast 11
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (II) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Commumnication

Choose the correct answer from the option given below :
1)  @)-AdD, B)-A). (O)-AV). M)-(II)
(2) (A)-AD, (B)-D. (C)-(11L, (D)-(1V)
3  @A)-@, (B)-dD), (C)-(ILL), (D)-AV)
@ @@, (B)-dD. (O)-AV). M)H-UII)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3. 3

[Option ID = 8163)
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frafafigs 4 o F9-ar v 09 = a0 F=E e gy 27

(1) U SEATHFARES (2) Thurea FerEe
(3)  FIA SEATHES @) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =-w =t g 99 w5 w1 8 e

(1)  warfm s (2) °EF Sl
(3)  wiFer (4) St

[Question ID = 2043][Question Description = Q37_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic {(4) Storm

frfafaa @ & Fiv-of wepias oMU 3w Fedt 3 oK 3ud e S oE a8 ¢
(1) =9 (2) wad fewie
(3  wemd (4 TP

[Question ID = 2044][Question Description = Q38_GP_20N0OV_51_SHAAN]

1. 1 [Option ID = 8173]
| 2. 2 [Option ID = 8174]

prepp
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| 3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) Mational Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG QORI =h! UHierulig i arsH1 % de 1 NMSHE fofeifiaa o o fopuser gemer 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and ([}) only

(4) (B) and (C) only

Freferfirn & O o wgmel = Tidger ST AT % TREA S SierTg WiEad W TS 8 7

(A)  TEEISA SRATFIES
(B) AR Tl (PMas)
€ EE

(D) HA

(E) AT5eH IT9HRS

F= fam T e § O 98 s w1 == hiR

(1)  =ae (B), (C) 3k (D)

2) = (A), (B) 3R (C)

(3) I (B) 3 (D)

(4)  =EE (B) 31X (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8181]

2 [Option ID = 8182]

. 3 [Option ID = 8183]
4 [Option ID = 8184]

e it R

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; : (4) AICTE

= e % dedd A, ArEig s e A gl far 4w g daR T Feife s s R
Frtaftaa o @ fra oo Fem/wwres =t Fam o @t

1) st @ wHHS

@ wHIwmS (49 wImH Az
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[Question ID = 2047][Question Description = Q41_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3, 3 [Option ID = 8187]
4, 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :

List |

: o+ s+ Listll

(A) NAAC ; ; (1) Delhi

(B} NIEDA ; ; (IlI) Bengaluru
(C) NDRI ; ; (III) Lucknow
(D} CDRI ; ; {IV) Karnal

A1 % e g1 =1 e o)
g1 - 11
@) wIgwd O &
B wWaEiAT I drgs
(C) TS AR 7 III) v
(D) i s omd (IV) T

9 f2u 7o faeredt & @ o) ST W A A

(L
(2)
3
(4

(A)-AD), (B)-II), (C)-(D), D)-(V)

(A)-(D, (B)-@. (C)-AV). (D)-(111)
(A)-A1D, B)-I), ([C)-D). (D)-aV)

(A)-AV). (B)-AID, (C)-(1I). (D)-()

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence}.

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D}, (E) only

(4) (A}, {(C), (D) only

73 forem ity (v § f1)-2020 % w1 3 & v Fit w9 FE w1 wE@E 2| 39 Freem % i e w2

(&)
(B)
©)

D)

E)

TRt # oTEaE SR TerER 3y e FEw dan W)

AR i GagR 3 MERER % P % Hag ¥ fen % g9 SEE-TEE ¥ TF Y gRa 61|
Tfi et et =1 seET A H weEan &g agyTet fawe = e |

e e, F o SeEr aiEd ¥ &7 § A el w am w2y onfietme
Sfersta =1 M FQ@ gu ST FTEH T

Toren senifiveht # sitfgmr ot deurra awara & Fmfor e

@ fau o feredt 1 O O It W 9u i
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1 *=4 (A, D), (B)
2) % (A), (B). (B)
3 %= (B). (D), (B)
4 @@ (), ©). (D)

[Question ID = 2049][Question Description = Q43_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D} DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B}, (C}, (D) only

(4) (C), (D}, (E) only

Frefafea § @ -9 $-2rfam 5= 27

(A)  FEEH

(B) RLLC

(C)  TaEw

Dy i

E) 7H

H= fou o fomedt € © w5 S F1 9 FT

1) a4 (A). (B). (B)
(2) = (A), (©). (D)
(3) == (B), (C). (D)
@ = (C), (D). B)

[Question ID = 2050][Question Description = Q44_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198)
3, 3 [Option ID = 8199]
4, 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T U % TS 9@ g 99 2015 A uod fawwm qew-4 8 waiyg fefafeaa 9 9 SR-a a5 s

eI
(1) U9 TaRed 3T agsl (2) T e
(3)  E Em (4) TN TEER UF ST

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
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. 1 [Optien ID = 8201]

2 [Option ID = 8202]
3 [Option ID = 8203]
. 4 [Option ID = 8204]
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Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO., and the Global Humanitaran Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitftances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEYEF 53 AT 59 18 13U T 99T W I 3

HIAT AP FIfaS-19 TEM §A1 W =1 1A Ras wee e 3R fidfa Rvaag = o f v
a1 AN 21 frowt ad  oifis B F witmn § su% s % WY T IERE STHEHE F DS TAF
HEId ® ¥l IR 3| o9 T @ BT W 10 g @ A I e g § AR gl wer # gl W
T FEEE S SETN 9 T@ 2| UG ¥E WAWN WReA g% U wE i 3, U8 Ok Iy
amfsE-aiE w@%e fi 21 oW W ToT wafe e uwifm 2] s e e o aiR
(Rerardl) & 3 o1 &t ot wr goteht e WeF @ @ 8, W & u% fava e wed % ueEm U e ©
@R wedl geadl w1 o 3@ W 2 aw ww AREw wmdE ahen feem F oW owm f g @ ke
an-aaeh & Aged | fHvaw w1 81 & 5 o ereelt Aefen ok s e @ 21 o w8 uan o ufifeurfon
w6 G w0 W ) wie difta ugl o ged ok wug-ae @l ug 3 siaddE s dned W
I9HE 2 56 400 fafeem (40 Ug) @Fn = FreiEl = Tt 31 faza 9% 3 sgAm e & R owm A
g7-tau (ifea) & 110 fafemm smieh ser i wd snorfh) goem st 2 B s00 fafemm (80 #U3)
AT AT gRenE) sl B T R § awd TE g )

The major crisis faced by the world since World War |l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

faedta frzerg % w12 faga =+ wod o=t awe Prw & o sy 27

Q) s @) e

(3) TER (4) TR

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]

-

. 1 [Optien ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
. 4 [Option ID = 8208]
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2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO., and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organmisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet theiwr basic needs.

T ] TEGEE T AT 58 918 3T T 99 W IW 3

BT I FHifag-19 Tamil AR 999 1 3@y ARas W ghe iR fidfa Rwagg & o 6 v
a2 TN 31 Tt @6 % sifam &1 3 cRmn 4 suss 39Wa & WY TE aERE SRR i BITAR U
HErd ® ¥l IR 3| o9 T @ BT W 10 g @ A o el g § iR gl wrear # gl w6
TR WS S I IS @ 8| Weg AT WeWH WReA Ghe ¥ el oItk 3, A5 U T
amsE-aiE g% ff 21 2W W TeT e e IWiiEe 2] sue el e o iR
(Ferard) 7 3 w1 S ot wr ot e WaW @ @ 8, W E a5 fava ey weA % ueEm g e ©
@R wedl gEadl w1 o 3@ W 2 aw 7w Afew wdE ke feem % owE owm f g @ g
au=aae & Sged | Hvaw w1 31 & 5 o ereelt Aefen o e war @ 21 o 8 wan e ufifeurfon
w9 gAFE w00 e | it g Zifle gl giew ok wHg-9e et ug 21 faddE wm dned W
I9HE 2 5 400 fafoem (40 wUg) AN = FewiEl = Tt 21 fazd 9% 3 wgAm e § R owm A
g7-taut (ifem) 7 110 ffemm smieh sen i wd snorfh) goem sthime 2 B s00 fafema (80 #U3)
T AT gRenE) sl B T R d and TE g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TER = Frefertiaa ¥ @ e g mowE A gsT R Y

1)
(3)

i (2) i

AT ST THA (4) ?{{Hﬁ

[Question ID = 2053][Question Description = Q47_GP_20N0V_51_SHAAN]

e it BRI

. 1 [Option ID = 8209]
2 [Option ID = 8210]
. 3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last

...... Sl mmmam Dimim b s e il i i o, AT Deimiw i i mwern mam o  amialo L m
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T AR WA T A WA R e far ok R W WTRT T Rl T el e e el P W e e el e e TT W AARL T W AAT TT A WA AT W RO

tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

e i GEYHIYOR T U1 3 aTG fOT T T9T W ST 3

AT TEE FIFS- 19 HeMH §AH WA T STYAYd 37T Tanea o 3R fita favagg & o i vew
o} T B1 famer ad % sifim Bt o o @ % w3 F @9 97 ARG SRR H BISAR Yo
Terg # A g 2| O OF §E] BT U 10 I A A I & g% 8 o i weaar w5 g W
T STEEAE T I IS W 2| Teg AF TEMN W THe H wel AfUF 3, T UF AYEE
amtfaw-a1ile wwe ft 21 3@ w1 waAw =it Tow wwike 3 e o amEts onfie ek
TSR T US4 ATl § (i oS Y A TR T G I 21 G Ug o g anfiies afaut
(ferarlt) 7 9 @ St bt o aFht e TG AR @ B, WY e Fvd T WeA o Wedm ¥ w9 ©
= gudt geal @ ol om W 2 9 T2 Aftaw geEE oghem FEem % e W o 3 @ s
o & Aged § s o wgr 81w e e st e o e mer @ ) % 9 wan e et
T AT B0 e | ik g gidfe ugl % sed ok wug-ge @l ug 3 srddE s amen W
s 2 55 400 fafemm (40 =Ug) @ At Aeien st e 2| faza S 3 sEm omen @ PR osm
g=-geoy (fa) d 110 Tl smfeh sen i wdt smefl) oo sifime 2 B 500 fufem (80 #ig)
A A g sl @ qu e § g E g )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-TT TSTEY HITS— 19 T e S TG gon 27

(1)

(3)

L

ufirm (2) 3ot omfEm
SRR @) i

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Opticn ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an

unprecedented socio economi crisis, Stressing every one of the country it touches, it has the

ETR N Iy SO ST, [ SRR L U PRSI S N S URTONRRE . [P TRP RSN OSSRt R, |SOTTIL Lol SOOI PR ' JORPNET C  [ENDRCH EMO Ll [ iy [SARRIPS P AR - |
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longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US $110 billion dechine in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T i GEGFHIYEE T AT 39 9G4 T 59 W I 3

HIAT G FIfaE-19 TEMi §A1 W =1 A ARas wee e 9R T Rvaag = 9 f v
a1 AW 21 Trowt ad % oifis B § ol § su% s ¥ WY T IERE STEHREH F DS TAT
HEId # ¥l IR 3| 19 T @ BT W 10 oG @ A I e g § iR gl wear # gl w6
T FEEE S SETN 9 @ 2| UG ¥E WEWN WRed g% U wE w3, UE Ok g
amiTE-aiE v f 21 2 W Uow it e IWiET 2] 5o it aefas ofiYew o
i T TR AT 2 e S w3 @ Ty A s s
(Rerardl) 7 3 o1 & ot w ot e WeW @R @ 8, W & T% fava e weA % ueEm U e ©
@ wedl gegl B ol 3w W@ @ o 7 Afvew nrdE agee FEem % e W g @ Sk
an=aae & Jged | Hvas 81 & 5 o ereelt Aefen o s wan w 21 5% 8 gan e ufifesrfon
wd @A Bei T | Rk e diflw ugl % glew oft wg-ae @l 92 3| sfadd 3w wned @
I9HE 2 5 400 fafoem (40 Ug) @ = Tl = Tkt 21 faza 9% 3 spEm e & R osm A
g7-Tau (ifem) 7 110 fufemm smieh sen 1 #h snof) gew sl 2 5 500 fafema (80 #U3)
AT AT gREE) sl B T R d awd TE g )

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDF  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geom 9 UN #it amnfas o afamfa (feradl) g =+t 390 vem fran 27

1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0OV_51_SHAAN]
. 1 [Option ID = 8217]
. 2 [Dption ID = 8218]
. 3 [Option ID = 8219]
. 4 [Option ID = 8220]

1
2
3
4

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, 1t has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitaran Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are

losine 1obs and income. with no wav of knowing when normalitv will return. Small
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islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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BRI I FHifag-19 Tamil AR 99F 1 3@y Ras @ ghe iR fidfa Rwagg & o 6 g
a1 AN 21 frow ad  oifis B § ol § su% s % WY TR AERE STHEHE F DS TAT
HEId ® %l IR 3| o9 T @ BT W 10 g @ A o9 e g § R gl wreer A gl w6
T FEEE S IS 93 TE 2| UG ¥E WEWN WRed g% U wE ik 3, U@ Uk g
amsE-oiw w@%e ff 21 2@ W TOT e 9 IR 21 5ue el gefes o ol
i T9E U39 9 3 e o e 9w TRt FeA w91 8 a3 ug i afes i afemfa
(Ferardl) o 7 o1 St ot wor ot e WaF @ @ 8, W & a8 fava e weA % ueEm U e ©
@R wedl gEdl B o 3w W # aw #w ARew wrdE oben feem % owE oW f g @ ke
A=A & Sgea 8 Frowm w1 21 7 oA S srot et oi s e @ 31 5 T8 v B wfifefa
%o aEFE 5ei1 e ) ek gid difle gl % glew oft wg-ue @l 92 31 sfaddm 3w wned W
IgHE 2 5 400 fafeem (40 wUg) AN = Tl = Tt 21 faza 3% 3 A e § TR s A
g7-taut (ifem) # 110 fafemm smieh ser i wd snorfh) goem st 2 B s00 fafema (80 #Us)
AT AT gRenE) sl B g A d awdd TE g )

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(2) Health care centres

(1) Tourism industry

(3) Industrial establishments

(4) Educational institutions

Hifas-19 % sucte # frfafa 9 @ 7 Teai/ afaem * g 9 it asd w9 g9mear gt ?

(1) T3 32

(3) e ataem

@) TR ufieEl g
(4) Hefer afdem

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4, 4 [Option ID = 8224]
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